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Phys 221 (Section 6)
Quiz #5
1. A hoop of mass 1.0 kg and radius R is mounted on a
s ; LS Y Pt A
frictionless axle (attached to the hoop itsell) and allowed to
make small oscillations in a vertical plane, as diagrammed
here,
a) The period of oscillation is found to be 1.53 5. What is
the radius of the hoop?
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b} If a simple pendulum is to have the same period, what
must be the length of that simple pendulum? e L A 7
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2. A wave function is given by:
y = (5.0 mm)sin [—(1.5 m™ ")z 4 (4.0 57" )]
a) Find the wavelength A and the speed v of the wave.
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b) Write down a suitable wavefunction for a harmonic wave which has all of the following properties (in
comparison with the wave given above):

o Twice the amplitude

s The same wave speed but hall the wavelength,

o The oppesite direclion of wave motion,
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Formulae for pendula: W= 1'||; n“f w=2nf
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